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@)

- (©)

(A 24 syem(Ed

’

F12+22+3% 4. +10% - aa -
A) 770 ' 385 ther, 2° +42 462 4+ 4902 is
‘ B) 1150
(C) - 1540 | _ ,
(D) 385x385 ““4
o2 S M ]
1P +2°4+3% 4. +10% =385 araflch 224 4% 1 g2 4 _ +20% -6ir Ay
@ ™ . . ®) 1150
© 1540 . . ‘(D) 385x385 .

In the ratio x % of y toy % of x, its jfractiOn value is equals to

N

S g |

, (D) 1

y-arx ‘V;—é;@Lb x—éhj% @@LGUJ, el &z ﬂdrm,&,;ﬁ&r iy

@ X ®
xy - . ) \
© £ ® 1 | -

Arun is hoﬁv half as old as his father. 'Ifwelve years ago the father’s age was three times as
old as Arun. Now the present age of his father's’age is R LR _

(A). 24 years ‘.(B) 36.years :.‘ o '
(O 48years (D) 50years .
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. @ 36genGser
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€
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123, The G.C.D. and L.C.M. of 90, 150, 225 is

A
- (©)

15, ‘450 © (B) ' 450, 15

'90, 225 .. (D) 225,150

90, 150, 225 g Aw e satien 15.@um.eu wpmb B.Qur. .

@

15, 450 . . ®) 450 15

©

99,225 - . (D) 225150

124. If y—%=6#finvd the value of-‘y3 —is o - Ce- B

@)

y S

216 . ®) 222

{©

y
A)
(%)

216 . . .@®) 222 ’
234 (D) 228 - e

D) 228  ~  - R .

1 1
- = =6 erafle y —y—@m mg‘,]uenuasesrrmr&

125. Whlch of the followmg statement is false in a Parallelogram‘?

A)

(B)

©)
™)

~ The diagonals are equal T

The opposﬂ:e s1des are parallel

The OPDOSlte angles and s1des are equal . '. e

The dlagonals blse\.t each other ' ""

el @mm&q@@s‘o argj saupnen &Lﬂ)@? .

@)
®).

Gr@rru L&E&BIGET @Gnmrmrr@jm

erﬁ@gglrr Canemmiiger LRI LsshIsE SoLIGD. - .
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.173' If a, b,l ¢ are in A.P., then 3%, 3%, 3¢ are in
(A) AP . . (B) G.P R '
(C) AP.and G.P. (D) None of these : : 9
a, b, c eauer @ sl (5 Qsrieuflasuda o ererer aafle 39, 3%, 3° %é]u_lsmm

Gfﬁiﬂg) Qs m_ireuflensufied o drarig.

(&) AP, . .

(C) AP wpmw G.P. _ (D) esib Gdma

7

174, If -1<r<1, then the sum of infinite number of a geometric sefies is

A) a(r"—l) ‘ : (1(1—7"")
Aa) = | . ® o
a ' ' ' o

(©) e . D) na

—1<r<1 eaflé iy el mmq,@ﬂ@é@.{s Glg,rn_rﬂsin_ah@g,_éb '

A a(r"—l) - ) o . . . \ a 1; ny
(A) r—1 A S K (B) (1—-: ) A
1o = b e . <SSR

175. The angle in a semi circle is a :.. : . |
@) acuteangle B e |
(C)  straight angle | | (D) l‘light.an‘gl

. ‘ : : eA‘
almvml;lfﬁﬁ‘b Aoy Carenrid R | '
@) @phCsres - ®) ‘-aslmcm;m.g
,(.C)', Gt Gasmammid : | “ : ):(b). QeiiCarentih i \
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1 118. The 7”1 term Of the sequen"e O 12 O 012 0 0012 ...... ) .
@A) 12x10° . (B). 12x10°
- (©  12x10" o (D) 1.2x107

9.12, 0.012, 0.0012 ... émp Qi cuflaneudies 7-apeug) o iy,

C(A) . 1.2x10° - . ® 12x10°%

©  12x10” R \Eﬂ

119, Si_mplify .

9.
4 5

8 5 .
@A) - 1H-
BT __
- N
© 13 -
18 *
HHEGS N -
©9 3 (3 3
5588 (1+3) =
A . 1_ ) : ) . . . - ~ : \
13 o )
C 1-—= _ .
©) O : ‘ (D)__1%
120. A sum of money triples itself at \ o
o 8% per annum over a cert N\
@) 20years | ® 22 Ye::sm wme. The time takenis ="
(C) 25 years (D) 30Jears SECEIENY | "
@(’D@!ﬁmﬁll'—i;éwmrrcv@%m@é PR 7.~ A TR v . -
' @a%ml_lq.a?g,‘gﬁlm@m .Lbl_réw;i i L .
| R D). 304{,@@{5@1{ ) _' N
’ 4 - , s .. . . , . -‘ , - ‘. . ~ i
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168. 14 2x+2, 8x +3 arein G.P then 11x, 22x+22, 23z +33 form

(A) an AP.
(B) aG.P.-
(C) . aconstant sequence

D) . Neither'A.P..-no’raG.P.‘ -

x, 2x+2 3x+3 GTGITLIGN Gp(T G]U@a;@g, Ggrn_rr mrﬂcm&uﬁ]eﬁ]@ul_‘ﬂm 11x, 22x+22 33x+33 aTen

-Qg,m_rr mrﬂm&u_lrrsmgj

(A) g_)@ .Ghl;@.éi' Qzri euflens

\7(3) M OUBEES Qs cullers ‘ | S o _ : - | N

© @@'mn@@ﬂgggql_fr_mrﬂm&. '

- (D) : 20 Sl (B Agm_i mrﬂém:uﬁbe{;beb AuméEEs Gllgr'rL‘r'r'aJrﬂm&u-_;Lb i@

| 169, The sum of three numbers is 264 if the ﬁr‘:t number be tW1ce the cecon(i énd"-thir& number

be one- thlrd of the ﬁrst then the second number is
@) 48 - . (B) 72 NV Ty

© s ~ ) ~_64 -

@,oemgu Grasuraserﬂsw em@g,cu 264 @e_r,'u eTair @r,rsmv_rreugj areiT Guimép. @@ .u:uml@ @m reugj am éﬁm -
i er

cremrawﬂw cgosm,r_f)]cu R ursJ@ araflé @UWLm@ srcm turrgj? o
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©- 5 S S D) e
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a+b+c . |
1s

176.
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anr]
w|Q
Il

then

e

(A)

bt

D)

:
3 |

7

(©

(A)

©

[y
~
~1

~ Whichds bigg.e’s‘t_f—';tlio?v
2:3, 3:5, 4:7, 5:8 e (o ) _ .

© 538 . K D). 23‘\ e

2:3,3:5, 47, 5:8 Qeupd Qulugarge .
@ w5 e ey L
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165. 1fthe product of four consecutive terms in G.P is 625. Find the first term.
Cidi : S O 3
B0 Q“(@E@g’ Q.‘—””'—” cufflengulem &@ﬁﬁ@ﬁé e, &guuqa;aﬂear AUBEGS G]grre'ms 625 eraiile -

WPSED 2-MILINLIE STERTE.

A 15 _."__.(B) 5. o,

166. Gain or loss pereent is always calculated on ( _'
(A) cost price = - - - . (B) _selling price '
(C) gain N - - . (D) loss

@mrru éIGDGDg] BLL Egsaﬁg,m au@urr@gjm Grg,m (Sum) a;am;séh_uu@élmgj? .
Y('A) S5 efleney | B - . (B) eﬁlmummsﬁ]mm .

A ). Qe . - '. . (D)..V.!B!—,L-LDA :

167 student goes to h.lS school from hls house at a speed 3 km/hr and returns at a speed of O
2 km/hr 1If he takes 5 hours in gomg and commg the distance between his house and school s

@ Skm T e @ 55km T

B LorETaGT SiaIgEaL W umﬂ&@ @&a@lw Gurg Wﬂﬁ@ 4. 5 @mssﬁ@m umﬂuﬂeﬂ@w Gﬁ® |

Habyn Gurs Lgamﬂ&@ 2 4.8 Gsua;gpﬁ]gum Qeddpm.” Gugyth Seui uelmﬂa;@ Gmgu auy
.5 mmﬂc:pgm THSIE Gasrramn_rm usrrerﬂa;@m sﬁl_torm@m p.merr ST

(A) 54.8 , - B 55 &.15
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Fud the correct relationship between G.C.p. and LC.M

]
il
1L
V.

Y
©

G.C.D. = LCM.
G.C.D. £ L.CM.
L.C.M. < G.C.D.

LCM. > G.C.D.
I ‘ ®) I

ul

S QeuaGag arasaian (G.C.D. wpgid L.C.M.) sfurer Qgm_iny

L
IL

L

©

BOQuem.Qur.au. = Bsfy.Qum.wo
BUQuEs. Gure. < B&y.Qumw
B&fy.Qur < BuQuE,.Qur.eu.

B3flg.Qum. > BUQUE.Qur.au.

4

I - ‘® I
1 . O IV

Kp q 7, s, tare in AP, then the value of p-4g+6r-4s+t¢ is

4)

1 - B 2

© 3 . ®) o

"*'-‘-‘Wai@;@,stn_ﬁmﬁmﬁé)(&l’)@@ﬁaﬁ- P-4q+6r-4s+i=?

w : o ® 2
R R S @ ol
- ocar
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116. The value of ¢° is

©) 0 ‘ ' ' g - - (D) @
e? ~aflér Ay L X | ) 7
@ e < | ® 1.

© o O

117. How many solutions have a Hnear equatlon in one Vanable‘? B
(A) Three solutions g o ® Umque solutmn_, o
(C)  Two solutions - > | T ® No solutlon

@( LnrrﬁluS\co ScoDHS @I @@uq_& &marurrL.lq.LD@ Grggsmm ﬁrrmsm? -

@A)  apangy érrma;m S N ~Y(E) B0 5"6“_&
) . @uen@ Sreyser . © D) Bieysdr Qomwa
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Reciprocal of 0 is — _ i

.

@ 0 o - ® 1

€ = (D) no reciprocal |

0-eleir 5@@&@ = 7 o ‘ ' _ : o
@ o : L B 1 :
€ = | D) s@ofif ﬁ@il-wr@lj

:

N

Which one of the followntg statements is false" ;

(A) Among the common d1v15ers of glven numbers the greatest d1v150r is the G C D -
B If the G. C D of any two numbers 18 1 they are said to be pnme nrlmbers

© Among the common multlples of glven numbers the least is the L C. M "'

(D) The product of any two numbers is equal to the product of thelr G. C D and L C M

Eparamid aa;,r_r)ga;aﬂcv srgj gmprran aa;mg;rr@m? '

(A) Geum(%eur_m aremaaflen GIUFFQI m@ﬁ@“‘“‘" ‘ﬂsug“'ﬂ"—' ""”@5@ éla.l@mmsaﬂm LﬁUG\Ll@j
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